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LIf A= {0, %, %, %, %} and f: A — B is a surjection

defined by f(z) = cos z then find B.

o Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_CYpCNLVU8mRw
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5 3 ] ,then find A+A and AA.

o Watch Video Solution

3. Find the vector equation of the plane passing through the

points ¢ — 2j + 5k, — 55 — k, — 3% + 5J.

° Watch Video Solution

4, If
a=(1, -1, —6),b=(1, —3,4) and ¢ = (2, — 5, 3),

then compare a x (b x ¢).

o View Text Solution



https://dl.doubtnut.com/l/_j3hRuZYhXmZb
https://dl.doubtnut.com/l/_AiscIIyc1JH6
https://dl.doubtnut.com/l/_J7gZXHzYQQzX

5.Find the range of 7Tcos ¢ — 24sinx + 5

° Watch Video Solution

9° in9°
6. Prove that — ~ + i — = cot 36°
cos9” —sin9

° Watch Video Solution

1 1
7.tanh ! <§> = §loge 3 09 XPN0CG.

° Watch Video Solution



https://dl.doubtnut.com/l/_MVmsSuSg4fZR
https://dl.doubtnut.com/l/_cKpDmVnuWvjg
https://dl.doubtnut.com/l/_c1LxSbkg2VZm
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1.If Ais a non-singular matrix then prove that A~ =

° Watch Video Solution

2. If @, b, c are non-coplanar vectors, prove that points with
position vectors 2a + 3b — ¢, a — 2b + 3¢, 3a + 4b — 2¢ and

a — 6b + 6¢ are coplanar.

° Watch Video Solution

3.|a] =2, |b| =3 and |2a — b| = 5then |2a + b| equals:

° Watch Video Solution



https://dl.doubtnut.com/l/_OZp53sXNUbMm
https://dl.doubtnut.com/l/_rwpuN3DJtz9T
https://dl.doubtnut.com/l/_jit1V3TbSK7C

4, Prove that

(1_|_ 7T) 14 3m 1+ T 14 O B 1
Cos 10 cos 10 cos 10 cos )= 1%

° Watch Video Solution

5. If 6,0, are solutions of the equation a
cos 20 + bsin20 = c,tanf; # tanfy and a + c # 0, then

find the values of (i) tan#; + tan 6, (ii) tan 6;. tan 6,.

° Watch Video Solution

6. If 6,06, are solutions of the equation a
cos 20 + bsin20 = ¢, tan6; # tanf, and a +c # 0, then

find the values of (i) tan #; + tan, (ii) tan ;. tan 6,.

° Watch Video Solution



https://dl.doubtnut.com/l/_o29xc1E8EaMg
https://dl.doubtnut.com/l/_t5AwSdBLe78R
https://dl.doubtnut.com/l/_CRA1itVrR5vr
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7. Prove that tan (5) + tan (3) + tan <§) =1

° Watch Video Solution

8. In a N ABC, if a:b:c=7:8:9, then find

cos A:cos B:cosC.

o Watch Video Solution

1.If f: A — B, g: B— C are two bijective functions then PT

(gof) ' = f log!

| ° Wiak~hh \NtAAA CAlLiikian



https://dl.doubtnut.com/l/_CRA1itVrR5vr
https://dl.doubtnut.com/l/_KwAJCJxhSFGN
https://dl.doubtnut.com/l/_9Vpkc7Ofc2Cp
https://dl.doubtnut.com/l/_wnEgC7whaAx2
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2. Show that

1 1 1 n

13 + 35 + £ e T + nterms = 5 1

° Watch Video Solution

1 o o
3.Showthat [1 b2 b | =(a-b)(b-c)(c-a)(ab+bc+ca)
1 & &

o Watch Video Solution

4. Solve the system of equations by Matrix inverse method,

2r —y+32=8, —z+2y+z2=4,3x+y—42=0

o Watch Video Solution



https://dl.doubtnut.com/l/_wnEgC7whaAx2
https://dl.doubtnut.com/l/_tuCg6uZHVmrI
https://dl.doubtnut.com/l/_ab7PHgNeugEr
https://dl.doubtnut.com/l/_bv6KT73GhQDV

5. Prove that angle in a semi circle is a rightangle by using

Vector method.

° Watch Video Solution

6. IF AB,C are angles of a triangle , Prove that

cos 24 + cos2B + cos2C = —4cos Acos BcosC — 1

° Watch Video Solution

7.InaAABCifr; = 8,ry = 12,73 = 24 find a,b,c.

o Watch Video Solution



https://dl.doubtnut.com/l/_Odt3A14uBW1b
https://dl.doubtnut.com/l/_HUh2Xnmd1cuZ
https://dl.doubtnut.com/l/_T2hVFtacKlgZ

